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1. Overall Description:

T1/RF-SWG proposes that the value of Maximum allowed UL TX power is changed to UE maximum transmit power, in case of correct behaviour at time-out test of random access in TS 25.133.  UE maximum transmit power is defined by the UE power class.  Because there is a possibility that the correct behaviour at time-out test is a failure even though UE is made in accordance with the specifications.
The one of the test requirement of correct behaviour at time-out test of random access is check the 12 preambles in each preamble cycle.  Figure 1 shows the Preamble PRACH transmission in case of the test parameter of correct behaviour at time-out in TS25.133.

Figure 1

The first preamble power and 12th preamble power are calculated as follows.

(1) First preamble power = -30dBm(Open loop power control is used)

Expected power = Primary CPICH DL TX power – received CPICH power at UE

             + UL interference + Constant value   ………………..(a)

             = -8dBm – (-80dBm) –102dBm +0 dB = -30dBm

(The value is defined in the Table A.6.5, Table A.6.6 and Table A.6.7. in TS25.133)

(2) P1 = 3dB (Power offset P0 : Table A.6.6 in TS25.133)
(3) 12th preamble power = -30dBm+3dB*11=3dBm

The measurement error of CPICH RSCP is defined in Section 9.1.1 of TS25.133.  The minimum error is defined to ( 6dB in Table 9.1 of TS25.133.  In this case, first preamble power is set to –30dBm( 6 dB according to the equation (a), because the received CPICH power at UE including in equation (a) is equal to CPICH RSCP measured by UE.  Therefore, 12th preamble power is set to +3dBm ( 6 dB.  Figure 2 shows the Preamble PRACH transmission in case of the error of CPICH RSCP, which is –6 dB.


Figure 2

In the section 6 of TS 25.214, the preamble power is defined as follows.

"6.3
Increase the Commanded Preamble Power by P0 = Power Ramp Step [dB]. If the Commanded Preamble Power exceeds the maximum allowed power by 6dB, the UE may pass L1 status ("No ack on AICH") to the higher layers (MAC) and exit the physical random access procedure.”
In the table A.6.6, the maximum allowed power is set to 0dBm. In the figure2, 11th preamble power is equal to the maximum allowed power plus 6dB. Therefore, after 11th preamble PRACH is transmitted UE pass L1 status to the higher layers and exits the physical random access procedure according to the section 6 of TS25.214.  It is mean that the 12th preamble PRACH isn’t transmitted and the correct behaviour at time-out test is a failure.

This test is described in TS34.121 section 8.4.2.3 and test parameters in table 8.4.2.1.2 are copied from table A.6.6 in TS25.133. Therefore there is some risk of a good UE being failed when transmit power reaches the limit before sending prescribed number of preambles.

2. Solution

Test parameter “Maximum allowed UL TX power” should be set to 33dBm in the section for correct behaviour at Time-out of Random Access test.

3. Actions:

To RAN4 group.

ACTION: 
T1/RF-SWG kindly asks RAN4:
                  - to review attached draft CR and endorse the change of the value of Maximum allowed UL TX power in TS34.121 in the case of correct behaviour at time-out test of Random Access before 1st November.
4. Date of Next TSG-T1/RF SWG Meetings:

T1/RF Meeting 27 
4th –6th November 2002
U.K

T1/RF Meeting 28 
10th –12th February 2003
U.S
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